M

chet € -2 XIRME



N

o) =

6-1-1. J1tHak
/

]

et €21 XIHAE

7|t 2} (expected value : Et)

J|CH2 HE2 20 229 FAHSHS ZoHH,
stEHol 7tsth 440 tiet 7S 8w ol2t e g &+ RUAC

=
SEHT X O 7|2 AXNE HDSHH 242 ChZar 20| Foknt
1. 0|4ty =EH
O|Atd = EHS X 2| 7hs9t 2440| (xy, X, ..., x,) O|H,
PIX=x)=P, /=1,2,...,n <

X9 7|thek AX) = Cr=1t £C0t

E(X) = %R

N

i




M
thet €21 xIRME

.

%Y BEHS X0 HBURHSES F(n 2 513 X 7ITh AX £ CHaI 2ot




e
thet €21 xIRME

4
(1.4)
(2,4)
(3.4)
(4,4)
(5.4)
(6,4)

i




k]

thet €21 XIREE

.

OF

XO| 7ts¢t 42 23,4,56,7,89,10,11,120|1H, @ EES M Xo| SHEEZ =
7

X 2 3 4 5 6 7 8 9 10 11 12
gE 1/36 2/36 3/36 4/36 5/36 6/36 5/36 4/36 3/36 2/36 1/36

5

‘.‘

-
—



thet €21 XIREE

k]

-

IN-

i

oIl

5_%

b4

o
4_%3_%

X 5

o 7
3_%4_%

A A n_J_l
H mu_.”_lil___“._U
2_55_5 o
o o
x x 9
+ +
~Jgefg 5
A A WH_
£ b —
I

)

Fry

b, -

R A

&

™
k2

d



” -2 XjRME]

]

=

7|chzko] §4

) _
10 1
KIr joI
od ol
o__= A_-
oY i
<4 i
Joir
o o
y uF
- Jd
20 Ly
100 © %l
ol =]
N Aol
[ LH oju
N o —_ ~ ol
= = > =N
= O .
joll g ] =0
>3 < {oll
R A Q + o —
o M + — \__)m_
G ~ x 5K
<0 <k >c — < H
i < -
Q o ‘W = ol
' il [ ~ <F
) NI 1 —~ ol
. it 1|
<} N Q Q =
B = 4 + fol
iy G oM
A
11— - o N
N a S
X 2 ~ n  ON




6-1-2. &

HEH
thet €21 XIREE

ZO| FAS

| 7I-O 7=|001|

E(X)

. e



]
thet €21 xIRME

- L
StEHL xO| 7|03 AX) = w2t g I, 24kvariance)2 X 2F v o] HXIO| X &,
S (X-u)2 2 7IHUCE Var(X) = 02 O 2 BTL|H,
2 2 2 -
=E(X—u) " =E(X) —u° = 7ot
n
2\ _ 2
E(X®) = ) xip,
=1
7|0 M 2EHT X E LIEIE 27Vt 9l 8R0= o 20N XE QO o2
O 2 HAHTICH F4H9| Y| Ml&22 EEHE X} (standard deviation)2tl ot o =
BT} 5, o =107 O| Tt
h _4
‘xﬁ?i?‘\;
-




]

thet €21 xIRME

(2 ol mEMao] B AL k

1 =E(X)=0%x1/8+1%x3/8+2x3/8+3%x1/8=1.5
E(X) =0x1/8+1x3/8+4x3/8+9%x1/8=3
c?=E(X) —u®*=3—(1.5)%=0.75
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(1) 4408 g o W=X+c

g EW=EX+c)=EX)+c

varl W= var(X+0) = var(X)

(2) A4 DSy W=cX
E(W=E(cX)= cE(X)

VN var W= var(cX) = Coar X)
3) A4 C{stn Sy W=cX + d
EW=EcX+d=cE(X)+d
var W) = var(cX +d) = ctoar(X)
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